
 

Review of two problems

This looks like things about stable and unstable

points which it can be but we can solve this

by just inspecting the slope field and not

referencing stable unstable

function increasing y o

3 functrow flat ly 0

function decreasing y o
o function flat y 0

function increasing y o

Based on what we have here the increasing
decreasing description of the function should look

something like



For instance then when y 2 we should have

y so when y o we should have
y 0

and so on Specifically

y Qays 3

Now we just check which choice makes

this work

First only choices A and D have y 0

when y o and y 3

choice A y y 3 y
If we take y 1 though we get
y 1 3 1 2 0 which doesn't

fit our description above

Thus choiceI is all that remains

and we could easilyverify that it matches
our description



8

Assumeacceterahetogravityis32ftl
s.to

Because
I changed
k 2
the graphs
no longer
match the
numbers

Because we have gravity and air resistance our

acceleration is
1 2,22g

Aicel

air
resistance 9 32 resistance

where air resistance is 2v
say velocity downbecause it points opposite to the way is positive for

we are falling simplicity

Then accel 1 2 16 v

What does the slope field for v look like

I



well as V 2 16 v we see that

V 0 at v 16

if v2 6 then v 2 16 v 0

if v 16 then V 2 16 V 0

So it's reasonable a slope fieldmight
look like

decreasing ITvanocnan.se
v increasing

So we conclude that the terminal velocity
place where v 0 is at v 16 ft sec

The graph that is closest to this is

choice Δ


